STRONG SMVIADE

EY SAVANT MANUFACTURING, INC.

www.savantmfg.com

#2372

4=5/16 x 2 3/4 Bolts

4= 5/16 Flat Small Washers

4= 5/16 Lock Nuts

4= 3/4 Plugs

4= 5/16 Large Flat Washers = A

2 =3/16 x 1 1/2 Flat Washer with a 5/16 x 1/2 oval hole = C

1=3/16x1 1/2 x 5 1/2 long with two 3/8 holes (one inch from each side) = B




